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3 parameter fit: Mag—Mag(lnst) = 23.09£0.16 + (—0.09+0.10) agirmass + (0.270.13) color
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2 parameter fit: Mag—Mag(Inst) = 23.1140.08 + (—0.10+0.00) airmass + (0.27+0.00) color
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1 parameter fit: Mag—Mag(inst) = 23.2040.03 + (~0.10+0.00) airmass + (0.11£0.00) color
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3 parameter fit: Mag—Mag(lnst) = 23.09£0.16 + (—0.09£0.10) airmass + (0.270.13) color

=
R
N x
XX ¥
" FEEI —
[ wlee o
|2 u Besbuxiy
ok e i
//
%
b
% x X x
% x x
g X ox . x
%
x
0.2 0.4 0.6 0.8 1 1.2 1.4
R-I
2 parameter fit: Mag—Mag(Inst) = 23.11+£0.08 + (—0.10+0.00) airmass + (0.27+0.00) color
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1 parameter fit: Mog—Mag(Inst) = 23.20+0.03 + (—0.10£0.00) airmass + (0.11£0.00) color
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